Seat No.:

Subject Code: 3340603

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER —-4(NEW) EXAMINATION - WINTER - 2021

Subject Name: Basic Transportation Engineering

Time: 10:30 AM TO 01:00 PM
Instructions:
Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.
English version is authentic.
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Give the classification of roads as per location and function.
AN Biel S8 2UHR A3 A0(T50L 52

Explain Advantages of cement concrete road.

[RA-2 51512 AL s1A2L oyRUAL

Define: site distance.
o) YL ¢Bl 2id

Explain flexible pavement with sketch.
ARy g0l Us(d A AMAl.

Write necessity of sub-surface drainage.
QIRL 3oyl sr3Rad ereudl.

Write function of sleeper.

U<l 5131 sxpuAl.

List component parts of bridge.

Y| 425l syRUAl.

Write full name of IRC.

IRC < 2Uv 1M &vil.

Define: Crossing
sURidLA] ety 2L,

List types of pavement.
R0 Us1L erpuAl.

Write benefits of road.
Al SUEIAL dvil.

OR

Draw neat sketch of cross- section of road and label its components.

A2 12 29269 2A15(d AL A<l 2118 eldl.

Explain the rigid Pavement.
£3 §olHl [N Al
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OR
Explain factor affecting selection of pavement.

521048 uRiealld vtuRsdl uRewal sypual,

Explain the camber.
5012 (AN uHmal,
OR
Write short note-stopping sight distance. (SSD)
22luloL 12 [Rre- (AN 25-it il
Calculate stopping sight distance for design speed of 60 kmph for two-lane two-
way traffic take function factor =0.40 and reaction time 2.0 sec.
6l @« AL RIS BUR 2-9 213sHi Rasid 218 c0 kmph w2 220daL 2 Rl

ARLAR] 531 RIS=0.70 Vi [RI5eUA AHA 2.0 As=2.

OR
A vehicle is passing on 100m radian curve with 80 kmph speed. Calculate super
elevation. Take function factor=0.20

A5 Algd ¢o kmph <l auld 4 0o Rzl Rierul alou as vl uuR i 8. Gsla-l
aRLAR] 521, &RAis=0.2.0

Write advantages of transition curves.
sl anis<l g1aeL sreudl.

OR
Write the requirement of good yard.
AR AL or3(Ra1dlL [N @i,
List out tests for bitumins.
(G122l At uRletoti<l 21€l caedl,
OR

Explain Flash and fire test for bitumin.
[Brz2ail e HI2 5A% Hied 1R uleRL AHANAL
Write necessity of soil stabilization.
HZlAL 2als20 5201 sr3RAA @il
OR
Explain viscosity test for bitumin.
[Ba2afleteAl uslatrL Hi2-i (514121 222 uuendl,
Explain objectives of maintenance of railway track.
A 25l [ARUaAl Sl AHMAL
OR
Explain factor affecting selection of railway gauge.
A9 Qlsy{l uRieo(l GuUR UL uReAdL syudl

Write classification of bridge.
ydld {50 avil.

OR
Explain types of bridge piers and explain any two.
Yetell Y1431 UsIRIAL AH QUi 21 SISURL 6 uHndl.
Explain railway gauge. (With sketch)
A9 sy UUMAL (2Ag(d A1)
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OR
Enlist requirement of ideal permanent way.

2128 2ed] sx3<landicdl €l oiudl,

Write the factor affecting for selection of site for a bridge.

Yl A152  uRieoll AHA 20541 YR srRUAL

List the factors affecting the road alignment.
LAl st 2ABAL URottliAl A1 53,

Write Characteristics of ideal rail joints.
28 el Uil viLRiadl qvll,

Explain softening point test for bitumin.
JMRAL Aig2{lo U2 222 AHMAL

Write the difference between flexible and rigid pavement.

AR 5] 21 23 50 A2AAL dglad @il
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